WOODFORD COUNTY BOARD OF EDUCATION AGENDA ITEM

ITEM #: VII A **DATE:** May 15, 2023

TOPIC/TITLE: Donations

PRESENTER: Administrators

ORIGIN:

	~
Ē	
Γ	
Г	Ì

TOPIC PRESENTED FOR INFORMATION ONLY (No board action required.)

ACTION REQUESTED AT THIS MEETING

ITEM IS ON THE CONSENT AGENDA FOR APPROVAL

ACTION REQUESTED AT FUTURE MEETING: (DATE)

BOARD REVIEW REQUIRED BY

1]	
1			

STATE OR FEDERAL LAW OR REGULATION BOARD OF EDUCATION POLICY OTHER:

PREVIOUS REVIEW, DISCUSSION OR ACTION:

	1
İ	1

NO PREVIOUS BOARD REVIEW, DISCUSSION OR ACTION PREVIOUS REVIEW OR ACTION

DATE:
ACTION:

BACKGROUND INFORMATION:

Items donated are required to have board approval.

SUMMARY OF MAJOR ELEMENTS:

Recommended donations for approval: WCHS Prom (monetary: Bluesky Electric Company); WCHS Baseball Spring Trip (monetary: WC Booster Club); WCMS Band (monetary: Tammie Odaniel, Family Worship Center Church, Martha brough, Judy Walker, Fabio Ricchi, The Brown Barrel, Cassidy Connell, Bradford Shelby, Jay Young, Carolin S. Wing, Joseph Odaniel, Amie Blanford, Linda Fortney, Vernon Leach, Heather Gensel, Anita Frances, Shannon Wheeler, Katie Resinger, Becky Jacobs, Danielle Johnson-Bradley); Huntertown/Southside, Northside/Simmons Family Resource Center Donations for 2022-2023 (see attached list). Blanket request for Huntertown/Southside, Northside/Simmons Family Resource Center Donations for 2023-2024.

IMPACT ON RESOURCES:

TIMETABLE FOR FURTHER REVIEW OR ACTION:	
SUPERINTENDENT'S RECOMMENDATION: TRecommended	Not Recommended
- Rom Rely	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School: WCHS	RECEIPT #
School Address: 180 Frank Fort St.	
Verscilles, KY 40383	Fiscal Year Ending: 22 - 23
School Federal ID #	
Date of gift: 3 124 23	
Donor Name: Bluesky Electric Company	
Donor Address: <u>PO Box 4960</u> street address	
street address (continued)	
Lexington KY 40.	S44 zip code
Donor Phone Number:	
Type of donation: (Circle one) Cash Check Amount	: \$ 500°° Other
Other gift description including purpose and restrictions on donat	ion:
Sponsor for Prom.	
Was anything of value received in exchange for donation?	Ye
If yes, description and dollar value:	
Federal ID # (if applicable)	
Federal ID # (if applicable)	195 pr
Person accepting donation	Principal RECEIVED
3127 23 Date	<u>3)27 23</u> Date MAY - 3 2023
*Form shall be filled out for all donations valued at \$250 or more	

BOARD OF EDUCATION

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School: WCHS	RECEIPT #
School Address: 180 Frank Fort St.	
Versailles KY 40383.	Fiscal Year Ending: 72-23
School Federal ID #	
Date of gift: 4 28 23	
Donor Name: WC Booster Club.	
Donor Address: <u>PO Box</u> 13 street address	
N .	
street address (continued)	
Versailles KN 40	383
city state	zip code
Donor Phone Number:	
Donor Phone Number:	
Type of donation: (Circle one) Cash Check An	mount: # 5000° Other
Other gift description including purpose and restrictions on	donation:
To Baseball For Spring Break Tr	ip ·
Was anything of value received in exchange for donation?	Ye
If yes, description and dollar value:	
It yes, description and donar value.	
Federal ID # (if applicable)	N. Char
IFish	14 Mar
Person accepting donation	Principal RECEIVED
4/28/23 Date	428 23 MAY - 3 2023
*Form shall be filled out for all donations valued at \$250 er	BOARD OF EDUCATION



WOODFORD COUNTY MIDDLE SCHOOL

100 School House Road • Versailles, Kentucky 40383-9214 PHONE (859) 879-4650 • FAX (859) 873-4436

> Clay Mattingly, Principal Ryan Wilkins, Assistant Principal / A.D. Katherine Waford, Interim Assistant Principal Dr. John Travis, Interim Dean of Students

April 28, 2023

Mr. Danny Adkins, Superintendent Woodford County Schools 330 Pisgah Pike Versailles, KY 40383

Mr. Adkins,

Please accept the following donation received by Woodford County Middle School. Generous donations are extremely important to us and help with the expenses of our school.

- Tammie Odaniel Family Worship Center Church Martha Brough Judy Walker Fabio Ricchi The Brown Barrel Cassidy Connell Bradford Shelby Jay Young Caroline S. Wing
- Band Activity Account - Joseph Odaniel Amie Blandford Linda Fortney Vernon Leach Heather Gensel Anita Frances Shannon Wheeler Katie Resinger Becky Jacobs Danielle Johnson-Bradley
- Band Activity Account
Thank you for your consideration of this request.

Clay Mattingly

Clay Mattingly Principal

RECEIVED

MAY - 3 2023

WOODFORD COUNTY BOARD OF EDUCATION

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MID	DLE SCHOOL	REC	CEIPT 28	865	
School Address:	100 SCHOOLHOUSE RD					
	VERSAILLES, KY 40383		Fisc	al Year Ending	: 2	2023
School Federal I	D # 61-6001372					
Date of gift:	4/17/2023]				
Donor Name:	Tammie Odaniel					
Donor Address:	198 Spring Run street address					
	street address (continued	1)				
	Versailles	KY		0383		
	city	state	zıp c	code		
Type of donation	n: (Circle one) Cash	Check	Amount: \$75	Other		
	iption including purpose a ACTIVITY ACCOUNT	and restrictions) on donation:			
Was anything of	value received in exchan	ge for donation	? Yes		No	x
If yes, descriptio	on and dollar value:					
Federal ID # (if Save γ Person accepting	Narti		Prin	/ With	>	
4.17.2	3			4-18-23		
Date			Date		Colorado da Col	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY N	MIDDLE SCHOOL	REC	EIPT 28865	
	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 4038	83	Fisca	l Year Ending:	2023
School Federal I	D# 61-60013	372			
Date of gift:	4/17/2023				
Donor Name:	Joseph Odaniel				
Donor Address:	366 McDonald Dr street address				
	street address (contin			·	
	Versailles city	KY state	40. <u>zip co</u>	383 0de	
	n: (Circle one) Ca iption including purpo ACTIVITY ACCOUN	se and restrictions	Amount: \$75	Other	
		_	đ		
Was anything of	f value received in exch	nange for donation	1? Yes	No	X
If yes, descriptio	on and dollar value:				
Federal ID # (if Sana	applicable) Martin			a vitte	
$\frac{\text{Person accepting}}{4.17.2}$			Princ	ip# C	
Date			Date		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COL	INTY MIDDLE	SCHOOL	RE	CEIPT	28865		
School Address:	100 SCHOOLHOU	SE RD						
	VERSAILLES, K	XY 40383		Fis	cal Year E	nding:	2023	
School Federal I	D# 61-	6001372						
Date of gift:	4/17/2023							
Donor Name:	Family Worship	Center Chu	rch					-
Donor Address:	6020 Tates Cree street address	k Rd						
	street address (o	continued)						
	Lexington city	KY sta	and the second se		40515 code			
Type of donation	n: (Circle one)	Cash	Check	Amount: \$100) Oth	er		
	iption including p ACTIVITY ACC		restriction) s on donation:				
Was anything of	value received in	n exchange fo	r donatio	n? Yes		No	x	
If yes, descriptio	on and dollar valu	16:						
Federal ID # (if Sava Y Person acceptin	Narth				an	UK.		
4.17.23				Pri	incipal	1		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY M	AIDDLE SCHOOL	RECE	CIPT 28865	5
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 4038	3	Fiscal	Year Ending:	2023
School Federal I	D# 61-60013	72			
Date of gift:	4/17/2023				
Donor Name:	Amie Blandford				
Donor Address:	PO BOX 4007 street address				
	street address (contin	ued)			
1. The second	Midway cuy	KY state	403 zip co		
	city	State	Zip co	ue	
Type of donation	n: (Circle one) Cas	sh Check	Amount: \$250	Other	
)		
	iption including purpos ACTIVITY ACCOUNT		s on donation:		
Was anything of	f value received in exch	ange for donation	n? Yes	No	x
If yes, description	on and dollar value:				
Federal ID # (if					
Sara V	Nartin			C/ Mith	
Person acceptin			Princi	ipal U	
4.17.2	23		(-18-23	
Date			Date		-

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MIL	DDLE SCHOOL	REC	CEIPT 28865	5
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fisc	al Year Ending:	2023
School Federal I	D # 61-6001372				
Date of gift:	4/17/2023] .			
Donor Name:	Martha Brough				
Donor Address:	3816 Brookdale Circle street address				
	street address (continued	d)			
	Lexington city	KY state	40 zip c)514	
	city	State	210 0	oue	
Donor Phone Nu Type of donatio		Check	Amount: \$20	Other	
Type of donation	a. (Circle olle) Casi	Check	Amount: \$20	Other	
WCMS BAND A	iption including purpose a ACTIVITY ACCOUNT				
Was anything of	value received in exchan	ge for donation	n? Yes	No	X
If yes, description	on and dollar value:				
Federal ID # (if					
In the second	Navtn			CI Mats	
Person accepting			Prin	cipal	
4.17.2	3		L	1-18-23	
Date			Date		-

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUN	TY MIDDLE	SCHOOL	REC	CEIPT	28865		
School Address:	100 SCHOOLHOUS	E RD						
	VERSAILLES, KY	40383		Fisc	al Year	Ending:	2023	
School Federal	ID # 61-6	001372						
Date of gift:	4/17/2023							
Donor Name:	Linda Fortney							
Donor Address:	306 Jermiah Dr street address							
	street address (co	ontinued)						
	Richmond	K			0475			
	city	Sta	ate	zıp c	code			
Type of donatio	n: (Circle one)	Cash	Check	Amount: \$50	Ot	her		
	iption including pu ACTIVITY ACCO		restrictions) on donation:		1,		
Was anything of	f value received in	exchange fo	or donation	? Yes		No	x	
If yes, description	on and dollar value	::						
Federal ID # (if Sava Person acceptin	Martin			Drin	C. cipal /	Mitz		
4.17.				L	1-18-	23		
Date				Date	e			

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MI	DDLE SCHOOL	RECH	EIPT 28865	
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fiscal	Year Ending:	2023
School Federal I	D # 61-600137	2			
Date of gift:	4/17/2023				
Donor Name:	Vernon Leach				
Donor Address:	803 Pheasant Ln street address				
	street address (continue	ed)			
	Versailles	КҮ	403		
	city	state	zıp co	de	
Type of donation	n: (Circle one) Cash	Check	Amount: \$50	Other	
	iption including purpose ACTIVITY ACCOUNT	and restrictions	J on donation:		
Was anything of	value received in exchan	nge for donation	? Yes	No	X
If yes, descriptio	on and dollar value:				
Federal ID # (if Sava W Person accepting	lartin		Princi	UML jpal	
<u>4.17.</u> Date				4-18-23	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MIL	DLE SCHOOL	REC	EIPT 2880.	3
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fisca	l Year Ending:	2023
	VERSAILLES, KI 40365		I Isca	i i cai Eliuliig.	2025
School Federal I	D # 61-6001372				
Date of gift:	4/14/2023	1			
Donor Name:	Judy Walker				
Donor Address:	169 Paddock Dr				
	street address				
		·			
	street address (continued	d)			
6 - A - A - A - A - A - A - A - A - A -	Versailles	KY	40.	383	
	city	state	zip co		
Donor Phone N	umber:				
			_		
Type of donatio	n: (Circle one) Cash	Check	Amount: \$50	Other	
)		
	iption including purpose	and restriction	s on donation:		-
WCMS BAND	ACTIVITY ACCOUNT				
Was anything of	f value received in exchan	ge for donatio	n? Yes	No	
If yes, description	on and dollar value:				
Federal ID # (if	annlicable)				
				C	
Sava	Marti			anth	
Person acceptin			Princ	cipal	
4.14.	23			4-18.23	
Date			Date		-
			Late		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MI	DDLE SCHOOL	REC	CEIPT	28803		
School Address:	100 SCHOOLHOUSE RD						
	VERSAILLES, KY 40383		Fisc	al Year Endi	ing:	2023	
School Federal I	ID # 61-6001372	1					
Date of gift:	4/14/2023						
Donor Name:	Fabio Ricchi						
Donor Address:	3041 Rose Bud Rd street address			-			
	street address (continue	d)		-			
	Versailles city	KY state		0383			
	City	state	zip (coue			
Donor Phone Nu Type of donation		Check	Amount: \$30	Other			
Other gift descri WCMS BAND A	iption including purpose : ACTIVITY ACCOUNT	and restrictions) on donation:				
Was anything of	value received in exchan	ge for donation	? Yes		No	x	
If yes, descriptio	on and dollar value:						
Federal ID # (if Sava Person accepting	Warth		Prin	C/Mtt cipal	~		
4.14.2 Date	3		Date	4-18-23			

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COU	NTY MIDDLE	SCHOOL	RE	CEIPT	28803		
School Address:	100 SCHOOLHOUS	SE RD						
	VERSAILLES, K	Y 40383		Fis	cal Year	Ending:	2023	-
School Federal I	D# 61-0	5001372						
Date of gift:	4/14/2023							
Donor Name:	The Brown Barr	el						
Donor Address:	DBA Blind Harr street address 224 N Gratz Stre	et						
	street address (co Midway	ontinuea) KY	ť.	4	40347			
	city	sta	te	zıp	code			
Type of donation	1: (Circle one)	Cash	Check	Amount: \$125	i O	ther		
	ption including p CTIVITY ACCO		estrictions	s on donation:				
Was anything of	value received in	exchange fo	r donatior	1? Yes		No	x	
If yes, descriptio	n and dollar valu	e:	r					
Federal ID # (if Save Y Person accepting 4.14.23	Martin g donation			Pri	<u>()</u> ncipal 4-18-	Witz		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COL	JNTY MIDDL	E SCHOOL	RECE	CIPT 2880.	3	
School Address:	100 SCHOOLHOU	SE RD		Reference of the second			
	VERSAILLES, K	XY 40383		Fiscal	Year Ending:	2023	
School Federal I	D# 61-	6001372					
Date of gift:	4/14/2023						
Donor Name:	Bradford Shelby	y					
Donor Address:	122 Lighthouse street address	Way					
	street address (c						
	Midway city		KY tate	403 ZIP CO			
Type of donation	n: (Circle one)	Cash	Check	Amount: \$750	Other		
Other gift descri WCMS BAND A			restrictions) on donation:			
Was anything of	value received in	n exchange	for donation	? Yes	No	X	
If yes, descriptio	n and dollar valu	ie:					
Federal ID # (if : Sava Person accepting 4.14.7 Date	Mart	<u> </u>		Princi y Date	1 Mt pal -18-23		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUN	TY MIDDLE S	SCHOOL	F	RECEIPT	28803	8	
School Address:	100 SCHOOLHOUSE					20000		
				L.				
	VERSAILLES, KY	40383	-	LF.	iscal Yea	r Ending:	2023	
School Federal I	D # 61-60	001372						
Date of gift:	4/14/2023							
Donor Name:	Heather Gensel			-]		
Jonor Address:	2316 Rocky Hills street address	Lane]		
	street address (con	ntinued)						
	Versailles	KY			40383			
	city	stat	e	Z	p code	1		
	mber:							
		Cash	Check	Amount: \$2:	50 (Other		
Type of donation Other gift descrij		rpose and re)	50 (Other		
Type of donation Other gift descrij WCMS BAND A	: (Circle one) ption including pu	rpose and re JNT	strictions	on donation:		Other No		
Type of donation Other gift descrij WCMS BAND A Was anything of	: (Circle one) ption including pu CTIVITY ACCOU	rpose and re JNT xchange for	strictions	on donation:				
WCMS BAND A Was anything of	: (Circle one) ption including pur CTIVITY ACCOU value received in e n and dollar value: pplicable) Mathie donation	rpose and re JNT xchange for	strictions	on donation:		No		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY	MIDDLE SCHOOL	RECE	IPT 28803	
School Address	: 100 SCHOOLHOUSE RE				
	VERSAILLES, KY 403	83	Fiscal	Year Ending:	2023
School Federal	ID # 61-6001.	372			
Date of gift:	4/14/2023				
Donor Name:	Anita Frances				
Donor Address:	112 Old Towne Walk street address			7	
	street address (contin				
	Midway city	KY state	4034 zip cod		
Type of donatio	n: (Circle one) <mark>Ca</mark>	sh Check	Amount: \$200	Other	
	iption including purpo ACTIVITY ACCOUN		on donation:		
Was anything of	f value received in exch	ange for donation	? Yes	No	X
If yes, description	on and dollar value:				
Federal ID # (if	applicable)				
	Martn		_C	1 mth	
Person accepting				lal /	
Date			Date		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MI	DDLE SCHOOL	REC	EIPT 28803	3
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fisca	l Year Ending:	2023
School Federal	D# 61-600137	2			
Date of gift:	4/14/2023				
Donor Name:	Kathie Resinger				
Donor Address:	924 Lane Circle street address				
	street address (continue	ed)		-	
	Versailles city	KY state	40. zip co	383 Dae	
Donor Phone Ni	umber:				
Type of donation	n: (Circle one) Cash	Check	Amount: \$125	Other	
Other gift descr WCMS BAND A	ption including purpose ACTIVITY ACCOUNT	and restrictions	on donation:	1	
Was anything of	value received in exchan	nge for donation	? Yes	No	X
If yes, descriptio	n and dollar value:				
Federal ID # (if $Sava \gamma$ Person accepting 4.14	Martin g donation		Princ		
Date			Date	4-18-23	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MIDDLI	E SCHOOL	REC	EIPT 2	8803		1
School Address:	100 SCHOOLHOUSE RD						-
	VERSAILLES, KY 40383		Fisca	l Year Endin	g: 2023]
School Federal I	D # 61-6001372						
Date of gift:	4/14/2023						
Donor Name:	Cassidy Connell						
Donor Address:	878 Scott's Ferry Rd street address						
		CY tate	40 21p co	383 ode			
Donor Phone N	umber:						
Type of donatio	n: (Circle one) Cash	Check	Amount: \$50	Other]
	iption including purpose and ACTIVITY ACCOUNT	restrictions	on donation:				
Was anything o	f value received in exchange f	for donation	? Yes		No X]
If yes, descriptio	on and dollar value:					1	
Person acceptin	Martin		(Princ	C MHS)] -
4.14. Date	23		Y. Date	-18-23			

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MID	DLE SCHOOL	REC	ЕІРТ	28764		
School Address:	100 SCHOOLHOUSE RD						
	VERSAILLES, KY 40383		Fisca	l Year E	nding:	2023	
School Federal I	D# 61-6001372						
Date of gift:	4/12/2023]					
Donor Name:	SHANNON WHEELER						
Donor Address:	121 FOALING RIDGE street address						
	street address (continued NICHOLASVILLE city) KY state	40 zıp co	356 ode			
Donor Phone Nu			-				
	n: (Circle one) Cash iption including purpose a RADE ACTIVITY ACCOU		Amount: \$200 on donation:	Oth	er		
Was anything of	value received in exchang	e for donation	? Yes		No	X	
If yes, descriptio	n and dollar value:						
Federal ID # (if a start of the second secon	Tarti		Princ		the		
<u>4.13.2</u> Date				<u>4-18-</u>	23		

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MID	DLE SCHOOL	RE	CEIPT	28766	New York Contraction of the Association of the	
School Address:	100 SCHOOLHOUSE RD						
	VERSAILLES, KY 40383		Fis	cal Year Endi	ng:	2023	
School Federal I	D# 61-6001372						
Date of gift:	4/12/2023]					
Donor Name:	JAY YOUNG						
Donor Address:	2025 APPLE ROAD street address						
	street address (continued	1)					
	VERSAILLES city	KY state		40383 code			
Type of donation Other gift descri WCMS BAND A	n: (Circle one) Cash iption including purpose a ACTIVITY ACCOUNT	Check and restrictions	Amount: \$400) Other			
							1.
Was anything of	value received in exchan	ge for donation	? Yes		No	x	
If yes, descriptio	on and dollar value:						
Federal ID # (if a Sana W Person accepting	Narth		Dei	Of Mett			
4.13. 2 Date			Da	ncipal / <u>4-18-23</u> te			

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUN	FY MIDDLE SCHOOL	RECEIPT	Г 28766	
School Address:	100 SCHOOLHOUSE	RD			
	VERSAILLES, KY	40383	Fiscal Yea	ar Ending: 2023	
School Federal I	D# 61-60	01372			
Date of gift:	4/12/2023				
Donor Name:	BECKY JACOBS]	
Donor Address:	3994 MANCHEST street address	'ER CT		7	
	street address (cor	tinued)			
	PACE	FL	32571		
	city	state	zip code		
Donor Phone Nu Type of donation		Cash Check	Amount: \$100	Other	
Type of donation	i. (circle one)	Cash Check	Amount. 3100	Other	
Other gift descri	ption including pu	rpose and restrictions of JNT	n donation:		
WCMS BAND A			_		
		xchange for donation?	Yes	No X	
Was anything of			Yes	No X	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY MII	DDLE SCHOOL	RECE	IPT 29151	
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383		Fiscal	Year Ending:	2023
School Federal I	D# 61-6001372				
Date of gift:	4/27/2023]			
Donor Name:	CAROLINE S. WING				
Donor Address:	(TECUMSEH FOUNDA street address 1711 TAINTER STREE	T	-1		
	street address (continue SAINT HELENA city	CA state	945 21p coo		
Donor Phone Nu	ımber:				
Type of donation	n: (Circle one) Cash	Check	Amount: \$250	Other	
	ption including purpose : ACTIVITY ACCOUNT	and restrictions	on donation:		
Was anything of	value received in exchan	ge for donation	1? Yes [No	X
If yes, descriptio	n and dollar value:				
Federal ID # (if : Sana Mi				& Mith	
Person accepting 4-28-2	g donation		Princi	pal	
7-20-2 Date	3		Date	/28/23	

SCHOOL ACTIVITY FUND DONATION ACKNOWLEDGEMENT FORM

School:	WOODFORD COUNTY M	IDDLE SCHOOL	RECE	CIPT 29167	
School Address:	100 SCHOOLHOUSE RD				
	VERSAILLES, KY 40383	3	Fiscal	Year Ending:	2023
School Federal I	D# 61-600137	72			
Date of gift:	4/27/2023				
Donor Name:	DANIELLE JOHNSO	N-BRADLEY			
Donor Address:	621 ADENA TRACE street address				
	street address (continu	led)			
	Versailles city	KY state	403 ZID COO		
Type of donation	n: (Circle one) Cas	h Check	Amount: \$25	Other	
	ption including purpose CTIVITY ACCOUNT	e and restrictions) on donation:		
Was anything of	value received in excha	inge for donation	? Yes	No	X
If yes, descriptio	n and dollar value:				
Federal ID # (if Sava M Person accepting	Tarta		Princi	() MA	
4-28- Date				1-28-23	-

7/1/2022 \ 7/1/2022 \ 8/25/2022 / 9/6/2022 \ 10/17/2022 \ 10/20/2022 \ 10/21/2022 \ 11/1/2022 \ 11/1/2022 \ 11/1/2022 \ 11/1/2022 \ 11/1/2022 \ 11/1/2022 \ 11/24/2022 \	Noodford County Extension office Extension Office/Homemakers Advisory Council Big Smiles (Huntertown) Advisory Council Big Smiles (Southside) Woodford Co. Women's Club	Description 300 school supply bags 300 bags x \$10.00=\$3,000.00 Time/Back to School Supply Drive 5 volunteers x \$29.95 per hr=\$149.75 Time/ 3 volunteers x 1hr=3 x \$29.95 per hr= \$89.85 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 4 volunteers x 1=6 x \$29.95 per hr= \$179.70 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	Total \$3,000 \$150 \$90 \$539 \$180 \$539
7/1/2022 E 8/25/2022 / 9/6/2022 E 10/17/2022 / 10/20/2022 E 10/21/2022 E 11/1/2022 E 11/1/2022 E 11/1/2022 I 11/1/2022 I 11/1/2022 I 11/1/2022 I	Extension Office/Homemakers Advisory Council Big Smiles (Huntertown) Advisory Council Big Smiles (Southside) Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/Back to School Supply Drive 5 volunteers x \$29.95 per hr=\$149.75 Time/ 3 volunteers x 1hr=3 x \$29.95 per hr= \$89.85 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 6 volunteers x 1=6 x \$29.95 per hr= \$179.70 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$150 \$90 \$539 \$180
8/25/2022 / 9/6/2022 F 10/17/2022 / 10/20/2022 F 10/21/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F	Advisory Council Big Smiles (Huntertown) Advisory Council Big Smiles (Southside) Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/ 3 volunteers x 1hr=3 x \$29.95 per hr= \$89.85 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 6 volunteers x 1=6 x \$29.95 per hr= \$179.70 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$9 \$53 \$18
9/6/2022 E 10/17/2022 / 10/20/2022 E 10/21/2022 E 11/1/2022 E 11/1/2022 E 11/1/2022 I 11/1/2022 I 11/1/2022 I 11/1/2022 I	Big Smiles (Huntertown) Advisory Council Big Smiles (Southside) Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 6 volunteers x 1=6 x \$29.95 per hr= \$179.70 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$53 \$18
10/17/2022 / 10/20/2022 F 10/21/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/24/2022 F	Advisory Council Big Smiles (Southside) Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/ 6 volunteers x 1=6 x \$29.95 per hr= \$179.70 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$18
10/20/2022 F 10/21/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/24/2022 F	Big Smiles (Southside) Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10 Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	
10/21/2022 E 11/1/2022 E 11/1/2022 E 11/1/2022 I 11/1/2022 I 11/1/2022 I 11/1/2022 I 11/24/2022 I	Big Smiles (Southside) Big Smiles (Huntertown) Big Smiles (Southside) Woodford Co. Women's Club	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10 Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$53
11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/1/2022 F 11/24/2022 F	Big Smiles (Huntertown) Big Smiles (Southside) Noodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	ψυυ
11/1/2022 F 11/1/2022 1 11/1/2022 1 11/1/2022 1 11/1/2022 1	Big Smiles (Southside) Noodford Co. Women's Club		\$53
11/1/2022 F 11/1/2022 1 11/1/2022 1 11/1/2022 1 11/1/2022 1	Big Smiles (Southside) Noodford Co. Women's Club		\$27
11/1/2022 \ 11/1/2022 \ 11/1/2022 (11/24/2022 \	Noodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$27
11/1/2022 (11/24/2022)		Monetary Donation/Coats & Shoes \$12,000.00/4= \$3,000.00	\$3,00
11/1/2022 (11/24/2022)	Noodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$27
11/24/2022		Donated clothing	\$40
	Versailles Church of Christ	Thanksgiving Food Baskets 12 baskets x \$75 (value per basket)= \$900.00	\$90
	Versailles Church of Christ	Time/Thanksgiving Baskets 5 volunteers 3 hrs=15 x \$29.95 per hr= \$449.25	\$44
	Sons of American Legion	Thanksgiving Food Baskets 6 baskets x \$75 (value per basket)=\$450.00	\$45
	Sons of American Legion	Time/Assembly/Delivery Thanksgiving Food Baskets 4 x 2hrs=8x \$29.95 per hr= \$239.60	\$24
	ě		\$80
	Sheri Ping/ Southside church	Thanksgiving Food Baskets 8 baskets x \$100.00= \$800.00	
	Sheri Ping/ Southside church	Time/Thanksgiving Food Baskets hrs estimated 5hrs x \$29.95=\$149.75	\$15
12/4/2022		Donated clothing	\$10
	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$30
	Versailles Baptist Church	Time/3 Volunteers for Build-A-Bed 3 volunteers x 4 hrs=12hrs x \$29.95= \$359.40	\$35
12/8/2022	,	3 used and new for Christmas trees for families	\$17
12/12/2022		Donated clothing	\$2
12/15/2022	,	Donated clothing	\$17
12/19/2022	,	Toys/items	\$40
12/25/22	Tammy Hestand/Comm Christmas	Time/Community Christmas assistance 1x15hrs= 15x \$29.95= \$449.25	\$44
12/25/2022	Derek Sumeral/Community Christmas	Time/Community Christmas assistance 1 x 10=10x \$29.95= \$299.50	\$30
12/25/2022	Max Basore/Community Christmas	Time/Community Christmas assistance 1x 5 hrs=5 x \$29.95 per hr= \$149.75	\$15
12/25/22	Community Christmas	51 (HT) + 65 (SS)=116 students x \$100.00 (ave per gift)=\$11,600.00	\$11,60
vear long	Versailles Church of Christ	Backpack Buddies food bags 70 bags per wk x 32 week=2,240.00 bags @ \$5.00 (per bag)	\$12,00
, ,	Versailles Church of Christ	Time/Backpack Buddies food bags 6 hrs wkly x \$29.95 per hr=\$179.70 x32 wks = \$5,750.40	\$5,75
, ,	First Christian Church	Backpack Buddies food bags 70 bags per wk x 32 week=2,240.00 bags @ \$5.00 (per bag)	\$12,00
	First Christian Church	Time/Backpack Buddies food bags 6 hrs wkly x \$29.95 per hr=\$179.70 x32 wks = \$5,750.40	\$5,75
	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$30
	Versailles Baptist Church	Time/3 Volunteers for Build-A-Bed 3 volunteers x 4 hrs=12hrs x \$29.95= \$359.40	\$35
	Anonymous	New shoes	\$5
	Advisory Council	Time/7 volunteers x \$29.95 per hr= \$209.65	\$21
	Anonymous	Used shoes, variety	\$5
	Anonymous	Used books, variety	\$5
	Advisory Council	4 volunteers x \$29.95 per hr= \$119.8	\$12
	Anonymous	New coats 21 x \$20.00= \$420.00	\$42
	Big Smiles (Huntertown)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10	\$53
3/8/23	The Celebration Co.	Monetary Donation = \$816.00	\$81
	Advisory Council	Time/ 5 volunteers x \$29.95 per hr= \$149.75	\$15
	St. Andrew's Anglican Church/Easter Food	17 Easter Food Commodity Baskets 17 baskets x \$50 (value per basket)= \$850.00	\$8
	St. Andrew's Anglican Church/Easter Food	Time Easter Food Commodity Basket Delivery/ 3 volunteers x 5hrs=15 x \$29.95 per hr= \$449.25	\$44
4/17/2023	Anonymous	Donated clothing= \$350.00	\$3
	Anonymous	shoes	\$5
	Advisory Council	Time/ 9 volunteers x 1 hr = 9 x \$29.95 per hr =\$269.55	\$27
	Anonymous	Used clothing, variety	\$30
	Big Smiles (Southside)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10	\$53
	Big Smiles (Southside)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr=\$539.10	\$5
	Big Smiles	Toothbrushes (250)	\$2
	Spencer Klautky/UK BSW Practicum student	Time/100 volunteer hours x 29.95=\$2995.00	\$3,00
	Versailles Baptist Church	Build-A-Bed Supplies	\$3,00
	Versailles Baptist Church	Time/6 Volunteers for Build-A-Bed x \$29.95/hr (1 hour)= 179.70	\$18
	Anonymous	Donated clothing=\$200.00	\$2
	Anonymous	Donated books=\$100.00	\$10
5/18/2023	Anonymous	School supplies	\$1
			\$72,22

	Northside/Simmons FRC	In-kind 2022-2023	
Date	Name	Description	Total
7/1/2022	Woodford County Extension office	300 school supply bags 300 bags x \$10.00=\$3,000.00	\$3,00
7/1/2022	Extension Office/Homemakers	Time/Back to School Supply Drive 5 volunteers x \$29.95 per hr=\$149.75	\$15
10/17/2022	Advisory Council	Time 3 volunteers x 1hr=3 x \$29.95 per hr= \$89.85	\$9
8/29/2022	Big Smiles (Simmons)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10	\$53
8/30/2022	Big Smiles (Simmons)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.11	\$53
12/1/2022	Advisory Council	Time 8 volunteers x 1=6 x \$29.95 per hr= \$240	\$24
9/1/2022	Big Smiles (Northside)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.10	\$53
11/1/2022	Woodford Co. Women's Club	Monetary Donation/Coats & Shoes \$12,000.00/4= \$3,000.00	\$3,00
11/1/2022	Woodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$29.95 per hr= \$269.55	\$27
11/1/2022	clothing	Donated clothing	\$20
11/24/2022	Lonnie Estes American Legion	Thanksgiving Food Baskets 5 baskets x \$75 (value per basket)=\$375	\$37
12/4/2022	Anonymous	Donated clothing	\$10
	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) =\$2500	\$30
	Versailles Baptist Church	Time/3 Volunteers for Build-A-Bed 3 volunteers x 2.5 hrs=22.5 hrs x \$29.95=\$674	\$67
12/13/2022	Midway ministerial association	Walmart gift cards for CC gifts \$100 each (6 total)	\$60
12/25/22	Tammy Hestand/Comm Christmas	Time/ Community Christmas assistance 1x15hrs= 15x \$29.95=\$449.25	\$44
12/25/2022	Derek Sumeral/Community Christmas	Time/Community Christmas assistance 1 x 10=10x \$29.95=\$299.50	\$30
12/25/2022	Max Basore/Community Christmas	Time/Community Christmas assistance 1x 5 hrs=5 x \$29.95 per hr=\$149.75	\$15
12/25/22	Community Christmas	100 (SE) + 45 (NS)=145 students x \$100.00 (ave)=\$14,500	\$14,50
year long	VUMC, VP, Journey Church	Backpack Buddies food bags 145 bags per wk x 32 week=4,640 bags @ \$5.00 ave p	\$4,64
	Midway Baptist, Midway Christian	Time/Backpack Buddies food bags 6 hrs wkly x \$29.95 per hr=\$179.70 x32 wks =\$5,750.40	\$5,75
year long	Midway Baptist, Midway Christian	Backpack Buddies food bags 70 bags per wk x 32 week=2,240.00 bags @ \$5.00 ave pe	\$12,00
year long	John and Ms. craig (delivery of BPB)	Time/Backpack Buddies food bags 6 hrs wkly x \$29.95 per hr=\$179.70 x32 wks =\$5,750.40	\$5.75
12/1/2022	Advisory Council	Time 8 volunteers x 1=6 x \$29.95 per hr= \$240	\$24
1/30/2023	Advisory Council	Time/8 volunteers x \$29.95 per hr=\$239.60	\$24
3/20/2023	Advisory Council	6 volunteers x \$29.95 per hr=\$180	\$18
3/13-3/14 2023	Big Smiles (Simmons)	Time/ 3 volunteersx 12 hrs=18 x \$29.95 per hr= \$1078	\$1,07
3/16/2023	Big Smiles (Northside)	Time/ 3 volunteers x 6 hrs=18 x \$29.95 per hr= \$539.11	\$53
	Anonymous	shoes	\$17
	Advisory Council	5 Volunteers x \$29.95 per hour =150	\$15



WOODFORD COUNTY PUBLIC SCHOOLS

330 Pisgah Pike • Versailles, Kentucky 40383-9214 • (859) 879-4600 Danny Adkins, Superintendent

<u>MEMO</u>

TO: WOODFORD COUNTY BOARD OF EDUCATION

FROM: DEANN WATTS, HUNTERTOWN/SOUTHSIDE FRC

DATE: MAY 19, 2023

RE: FRC DONATIONS

The Huntertown/Southside FRC requests permission to accept donations beginning 07/01/23-06/30/24. This shall include; food, clothing, supplies, and/or monetary donations, which will fulfill the Family Resource Youth Service Centers'(FRYSC) program mission of enhancing students' abilities to succeed in school and remove non cognitive barriers to learning. Please see attached in-kind contributions received by the Center during the 2022-2023 school year.

BOARD MEMBERS

Angela McKale, Chair – Amanda Glass, Vice Chair Adam Brickler – Sarah McCoun – Sherri Springate

Equal Education and Employment Opportunities



WOODFORD COUNTY PUBLIC SCHOOLS

330 Pisgah Pike • Versailles, Kentucky 40383-9214 • (859) 879-4600 Danny Adkins, Superintendent

MEMO

TO: WOODFORD COUNTY BOARD OF EDUCATION

FROM: Celine Galvan, Northside/Simmons FRC

DATE: MAY 9, 2023

RE: FRC DONATIONS

The Simmons/Northside FRC requests permission to accept donations beginning 07/01/23-06/30/24. This shall include; food, clothing, build a bed supplies, supplies, and/or monetary donations, which will fulfill the Family Resource Youth Service Centers'(FRYSC) program mission of enhancing students' abilities to succeed in school and remove non cognitive barriers to learning. Please see attached in-kind contributions received by the Center during the 2022-2023 school year.

BOARD MEMBERS

Angela McKale, Chair – Amanda Glass, Vice Chair Adam Brickler – Sarah McCoun – Sherri Springate

Equal Education and Employment Opportunities